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<p>HHINEE: B— P EEHRINRTPRIEIEHZEATAT sql AT in EIIRIFFFEH</p>

<p>it: SHPIGERTEHITEERG </p>
<p>/**</p>

<ul>

<li>

<p>fHfF: HHESE</p>

</li>

<li>

<p>HHETFIORENA: (1,23..)</p>

</li>

<li>

<p>@param t BSEEIFIFR</p>

</li>

<li>

<p>@param LY Iterable AUZEORYSEEL < /p>
</li>

<li>

<p>@return FHERFHFRFE</p>

</li>

</ul>

<p>*/</p>

<p>protected String joinParameter(T t){</p>
<p>//BEF=E</p>

<p>if(t == null){</p>

<p>return null;</p>

<p>}else {</p>
<p>//B¥FFREGFX</p>
<p>StringBuffer tempBuffer = new StringBuffer('(');</p>
<p>//ERIERSRRHTIZER</p>
<p>lterator iterator = t.iterator();</p>
<p>//RAFEMNES|</p>

<p>int count = 0;</p>

<p>while (iterator.hasNext()) {</p>
<p>0Object obj = iterator.next();</p>
<p>//FIHFREFREEM ', ' </p>

<p>if (count &gt; 0) {</p>
<p>tempBuffer.append(,');</p>
<p>}</p>

<p>//{REARINREH THHEFRFE</p>
<p>if (obj instanceof String) {</p>
<p>try {</p>

<p>tempBuffer.append('").append(URLEncoder.encode(obj.toString(), "UTF-8")).append(""); <

p>

<p>} catch (UnsupportedEncodingException e) {</p>
<p>e.printStackTrace();</p>

<p>}</p>

<p>} else if (obj instanceof Number) {</p>
<p>tempBuffer.append(obj);</p>
<p>}</p>

<p>//F&5| +1</p>

<p>count++;</p>

<p>}</p>

<p>//HHEERFF</p>
<p>tempBuffer.append());</p>
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<p>//REIFFFE</p>

<p>return tempBuffer.toString();</p>
<p>}</p>

<p>}</p>
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